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YAARIL: (1) [ACWILTAL dHH UHL AL LRL HR1 6.
)  [AcwrTil sieel 21 usliHL Gr 2L
(3)  [AGLLTIAL U3H-9 Al M.C.Q.AL slEfUeL ARAL BtR AL
CICTE . |
ARAAL U MBI ST SR URLAL v lled QU :

1. CURAHL LS A ALl Gellll HeTe AL 14
2. Gedld wilsrel AHMAL 14
3. GURAHL SR &lot Hed ovRUdl. 14
4. GURAHL MR sl AHRARAL UL 14
5. QASEIAL ] AHoel, ASIRIAL UsIRIAL UL S3U. 14
6. OlsIRIL AHRAUL §R 53l ARSIR-AL ALl L 14
7. CURAHL ARl QeiRAL 2A1Rls AU AHMlL. 14
8.  CURAML dl [A5leAL s1IRRU UMl 14
[QeteL— 11

9. AAl olgaAs(EU5 UHIAL A GiR AL : (A1 d AR) 2x4=8

(1) H3RIsLAL sl 222 Beldli (AEML [AeUoy- AL 8. (AR, UL

(2)  AUsselall dadrl s quriaL Gelldli-l USR 6. (6, ALY

(3) 1956l 2L AUl MR &L |2 Hizl GElUL A IHAML AL

¢dl. (17, 27)
(4)  GURAHL 195141 SR alali-Al }uv=1 edl. (5, 10)
(5)  GURAHL YRl ArHleL dUR Ayl (SGRY) L U3 sAML 2l el
(2001, 2005)

(6) A AR ALyl ABBAUAHL EUHL Al elsl olsIR gdl. (33,45)

(7) Rl AsHuIAL Rigld Horot sUL dotssiHl drdl [dRglz 20 6 9 (UaH, ollon)

(8)  GURAHL 1921l i Helldetors arl d=ls LML 2 8. (URY, vi2)
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Instructions : (1)  All questions in Section-I carry equal marks.
(2) Attempt any three questions from Section-I.
(3) Attempt any four questions (MCQ) of questions-9 from Section-I1.
Section — I
Answer any three questions from the following eight questions :
1 Explain the importance of home and small scale industries in India. 14
2 Explain the classification of Industries. 14
3 Explain the importance of public sector in India. 14
4.  Discuss the problems of public sector in India. 14
5. Explain the meaning of unemployment and discuss the types of unemployment. 14
6 Discuss Government policy to eliminate unemployment problems. 14
7 Explain the economic effects of population growth in India. 14
8 Explain the causes of population explosion in India. 14
Section — 11
9. Answer the following multiple choice questions correctly : (Any four) 2x4=8
(1) Industries are divided into segments according to the size of the
investment. (four, five)
(2) There are types of consumer goods or consumer industries. (two, three)
(3) The Industrial Policy of 1956 reserved large industries for the public
sector. (17, 27)
(4) The number of public sector in India in 1951 was .(5,10)
(5) The Sampoorna Gramin Rojgar Yojana (SGRY) in India was launched in
. (2001, 2005)
(6) At the beginning of the First Five Year Plan, lakhs people were
unemployed in the country. (33,45)
(7) According to the principle of population transition, at what stage does the
population explode ? (first, second)
(8) In India, the year 1921 is known as the year of partition. (True, False)
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